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P - I (1+1+1) G / 20 (N) SUP
2020

ECONOMICS (General)
Paper Code : I-A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : I-A
Full Marks : 50 Time : One Hour

Choose the correct answer.

Each question carries 2 mark.

1. The demand curve for Giffen goods is —

(A) Downward sloping

(A) Parallel to X-axis

(C) Upward rising

(D) Parallel to Y-axis

1Ð !†öìšþ˜ oî=!œîû SGiffen GoodsV öÇþöìe ‰þy!£”y öîû…y £ëû éôôôé

(A) !˜Á¬†y›#

(B) XéôéxöìÇþîû ¢›yhsþîûyœ

(C) |•¹Å†y›#

(D) YéôéxöìÇþîû ¢›yhsþîûyœ

2. If two goods are substitutes to each other, the value of cross-price elasticity
of demand is —

(A) Zero

(A) Positive

(C) Negative

(D) One
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2Ð ë!” ”%!Ýþ oîÄ ~öì„þ xþ™öìîûîû þ™!îûþ™)îû„þ oîÄ SSubstitutesV £ëû– “þöìî “þyöì”îû ‰þy!£”yîû
þ™yîûßþ™!îû„þ ”y›†“þ !ßþi!“þßþiyþ™„þ“þyîû ›y˜ £öìî éôôôé

(A) Ÿ)̃ Ä

(B) •˜yd„þ

(C) }’yd„þ

(D) ~„þ

3. Elasticity of demand for necessity goods are always —

(A) Perfectly elastic

(A) Elastic

(C) Inelastic

(D) Perfectly inelastic

3Ð ²Ìöìëûy‹˜#ëû oîÄ=!œîû ‰þy!£”yîû !ßþi!“þßþiyþ™„þ“þy ¢îÅ”y íyöì„þ

(A) þ™)’ÅyD !ßþi!“þßþiyþ™„þ

(B) !ßþi!“þßþiyþ™„þ

(C) x!ßþi!“þßþiyþ™„þ

(D) þ™)’ÅyD x!ßþi!“þßþiyþ™„þ

4. Total Utility (TU) obtained by a commodity attains its maximum when Marginal
Utility (MU) —

(A) Decreases

(A) Equals zero

(C) Increases

(D) Remains constant
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4Ð ~„þ!Ýþ oîÄ myîûy ²Ìy® ö›yÝþ vþzþ™öìëy!†“þy STUV ë…˜ ¢öìîÅyF‰þ £ëû– “þ…˜ ²Ìy!hsþ„þ
vþzþ™öìëy!†“þyîû SMUV ›y˜ éôôôé

(A) £Éy¢ „þöìîû

(B) Ÿ)̃ Äéôé~îû ¢›y˜

(C) î,!kþ þ™yëû

(D) !ßþiîû íyöì„þ

5. In the long run fixed cost incurred by a firm becomes

(A) Minimum

(A) Zero

(C) Maximum

(D) One

5Ð ”#‡Å „þyöìœ ö„þyöì̃ y šþyöì›Åîû !ßþiîû îÄëû £öìëû ëyëû éôôôé

(A) )̃̃ Ä“þ›

(B) Ÿ)̃ Ä

(C) ¢îÅy!•„þ

(D) ~„þ

6. Which of the following is an example of Fixed Cost?

(A) Total wages paid to labourers

(A) Cost of raw materials

(C) Cost of purchasing land

(D) Cost on fuel consumption
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6Ð !˜öì‰þîû ö„þy˜!Ýþ !ßþiîû îÄöìëûîû vþz”y£îû’Ú

(A) ×!›„þöì”îû ö›yÝþ öî“þ˜

(B) „þy¤‰þy›yœ e«ëû „þîûyîû …îû‰þ

(C) ‹!› e«ëû „þîûyîû îÄëû

(D) ‹µyœy˜#îû …îû‰þ

7. Homogeneous products are sold by each seller in —

(A) Perfect Competition Market

(A) Monopoly Market

(C) Monopolistic Market

(D) Oligopoly Market

7Ð ²Ì!“þ!Ýþ !îöìe«“þy ¢›îû*þ™# oîÄ=!œ !îe«ëû „þöìîû̃  éôôôé

(A) þ™)’Å ²Ì!“þöìëy!†“þy îy‹yöìîû

(B) ~„þöì‰þ!Ýþëûy îy‹yöìîû

(C) ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy!†“þy îy‹yöìîû

(D) x!œöì†yþ™!œ îy‹yöìîû

8. The necessary condition for a firm to be in equilibrium is —

(A) AR=AC

(A) AR=MC

(C) MR=MC

(D) AC=MC
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8Ð ~„þ!Ýþ šþyöì›Åîû ¦þyîû¢y›Ä ²Ìy® „þîûyîû ‹˜Ä ²Ìöìëûy‹˜#ëû Ÿ“Åþ £œ éôôôé

(A) AR=AC

(A) AR=MC

(C) MR=MC

(D) AC=MC

9. In which of the following market is control over the price of its product by a
firm maximum?

(A) Perfect Competition

(A) Monopoly

(C) Oligopoly

(D) Monopolistic Competition

9Ð ˜#öì‰þîû ö„þy˜ •îûöì̃ îû îy‹yöìîû šþy›Å “þyîû oöìîÄîû ”y›öì„þ ¢îÅy!•„þ !˜ëûsþf’ „þîûöì“þ þ™yöìîûÚ

(A) þ™)’ÅyD ²Ì!“þöìëy!†“þy

(B) ~„þöì‰þ!Ýþëûy

(C) x!œöì†yþ™!œ

(D) ~„þöì‰þ!Ýþëûy ²Ì!“þöìëy!†“þy

10. A firm under perfect competition is a —

(A) Price taker

(A) Price maker

(C) Both (a) and (b)

(D) None of the above
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10Ð þ™)’ÅyD ²Ì!“þöìëy!†“þyîû x•#öì̃  ~„þ!Ýþ šþy›Å £œ éôôôé

(A) ›)œÄ @ùÌ£#“þy

(B) ”y› !˜›Åy“þy

(C) vþzþ™öìîûîû ”%!Ýþ£z

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

11. GNP  = GDP  + ………..

(A) Taxes

(A) Subsidy

(C) Depreciation

(D) Net Factor Income from Abroad (NFIA)

11Ð GNP  = GDP  + ………..

(A) „þîû

(B) ¦þ“%Åþ!„þ

(C) xî‰þëû

(D) !îöì”Ÿ öíöì„þ ö˜Ýþ šþÄyQîû xyëû SNFIAV

12. According to Keynes, consumption in an economy is the function of —

(A) Income

(A) Rate of Interest

(C) Savings

(D) None of the above
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12Ð ö„þ£z̃ öì¢îû ›öì“þ– ~„þ!Ýþ xíÅ̃ #!“þöì“þ vþzþ™öì¦þy† SConsumptionV !˜¦Åþîû „þöìîû éôôôé

(A) xyëûéôé~îû vþzþ™îû

(B) ¢%öì”îû £yîûéôé~îû vþzþ™îû

(C) ¢Mþéëûéôé~îû vþzþ™îû

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

13. Which of the following is a quantitative method of credit control adopted by
the central bank?

(A) Open Market Operation

(A) Bank Rate

(C) Cash Reserve Ratio

(D) All of the above

13Ð ˜#öì‰þ vþzöìÍÔ!…“þöì”îû ›öì•Ä ö„þy˜!Ýþ ö„þw#ëû îÄy‚„þ myîûy †,£#“þ öe«!vþÝþ !˜ëûsþföì’îû þ™!îû›y’†“þ
þ™kþ!“þ SQuantitative MethodVÚ

(A) çöìþ™˜ ›yöì„ÅþÝþ xþ™yöìîûŸ˜

(B) îÄy‚„þ öîûÝþ

(C) ˜†” !îû‹y¦Åþ x %̃þ™y“þ

(D) vþzþ™öìîûîû ¢î=öìœy

14. The sum of MPC and MPS is always equal to —

(A) 0

(A) 1

(C) 10

(D) 100
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14Ð MPC ~î‚ MPSéôéîû öëy†šþœ ééôé~îû ¢›y˜

(A) 0

(A) 1

(C) 10

(D) 100

15. In case of liquidity trap, rate of interest is —

(A) Maximum

(A) Minimum

(C) Zero

(D) None of the above

15Ð “þyîûœÄ ‹yœ SLiquidity TrapV £çëûyîû öÇþöìe– ¢%öì”îû £yîû £ëû éôôôé

(A) ¢îÅy!•„þ

(B) )̃̃ Ä“þ›

(C) Ÿ)̃ Ä

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

16. “Supply creates its  own demand” — is the statement of which law?

(A) Law of Demand

(A) Law of Supply

(C) Say’s Law

(D) Law of Variable Proportions
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16Ð òòöëy†y˜ “þyîû !˜‹ßþº ‰þy!£”y ÷“þ!îû „þöìîûóóéôôôé ö„þy˜ ¢)öìeîû î_«îÄÚ

(A) ‰þy!£”yîû ¢)e

(B) öëy†yöì̃ îû ¢)e

(C) öì¢éôé~îû ¢)e

(D) þ™!îûî“Åþ˜Ÿ#œ x %̃þ™yöì“þîû ¢)e

17. Mathematically, Keynesian Multiplier (K) is equal to —

(A) 1
MPC

(A) 1
MPS

(C) 1
APS

(D) 1
APC

17Ð †y!’!“þ„þ¦þyöìî– ö„þ£zªéôé~îû =’„þ SKVéôé~îû ›y˜ éôôôé

(A) 1
MPC

(A) 1
MPS

(C) 1
APS

(D) 1
APC
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18. The value of money ___________ due to rise in money supply in an economy.

(A) Rises

(A) Falls

(C) Remains same

(D) Becomes zero

18Ð ~„þ!Ýþ xíÅ̃ #!“þöì“þ xöìíÅîû öëy†y˜ îyvþüöìœ xöìíÅîû ›)œÄ SValue of MoneyV .....Ð

(A) îyöìvþü

(B) „þöì›

(C) !ßþiîû íyöì„þ

(D) Ÿ)̃ Ä £öìëû ëyëû

19. Which of the following is not the function of a commercial bank?

(A) Issue of currency notes

(A) Advancing loans

(C) Accepting deposits

(D) Collecting bills on behalf of customers

19Ð ˜#öì‰þîû ö„þy˜!Ýþ îy!’!‹Ä„þ îÄy‚öì„þîû „þyëÅ ˜ëûÚ

(A) ›%oy Šéyþ™yöì̃ y

(B) }’ ö”çëûy

(C) xy›y˜“þ @ùÌ£’

(D) @ùÌy£„þöì”îû þ™öìÇþ !îœ ¢‚@ùÌ£ „þîûy
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20. NABARD was established in the year —

(A) 1980

(A) 1981

(C) 1982

(D) 1990

20Ð ˜yîyvÅþ SNABARDV ²Ì!“þ!Ûþ“þ £öìëû!Šéœ ö„þy˜ ¢yöìœÚ

(A) 1980

(A) 1981

(C) 1982

(D) 1990

21. The weakness of Indian National Income accounting is —

(A) Vast informal sector

(A) Huge expenditure for data collection

(C) Lack of skilled manpower

(D) All of the above

21Ð ¦þyîû“þ#ëû ‹y“þ#ëû xyëû !£¢yöìîîû ”%îÅœ“þy £œ éôôôé

(A) ²Ì‰%þîû x˜y %̃Ûþy!˜„þ …y“þ

(B) “þíÄ ¢‚@ùÌöì£îû ‹˜Ä !îŸyœ îÄëû

(C) ”Çþ †’„þöì”îû x¦þyî

(D) vþzþ™öìîûîû ¢î=öìœy
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22. Which of the followings is the feature of Green Revolution in India?

(A) Use of HYV seeds

(A) Use of Chemical Fertilizers

(C) Use of Irrigation Facilities

(D) All of the above

22Ð ˜#öì‰þ !œ!…“þ=!œîû ›öì•Ä ö„þy˜!Ýþ ¦þyîûöì“þîû ¢î%‹ !î²Õöìîîû ÷î!ŸÜTÄ éôôôé

(A) HYV î#öì‹îû îÄî£yîû

(B) îûy¢yëû!˜„þ ¢yîû îÄî£yîû

(C) ö¢‰þ ¢%!î•y îÄî£yîû

(D) vþzþ™öìîûîû ¢î=öìœy

23. New Economic Policy was introduced in India in the year —

(A) 1990

(A) 1991

(C) 1993

(D) 1994

23Ð ¦þyîûöì“þîû ˜“%þ˜ xíÅ̃ #!“þ ˜#!“þ ‰þyœ% £öìëû!Šéœ ö„þy˜ ¢yöìœÚ

(A) 1990

(A) 1991

(C) 1993

(D) 1994
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24. Disguised unemployment is usually seen in —

(A) Agricultural Sector

(A) Manufacturing Sector

(C) Banking Sector

(D) None of the above

24Ð Šép öî„þyîûc SDisguised UnemploymentV ¢y•yîû’“þ ö”…y ëyëû

(A) „,þ!¡ì öÇþöìe

(B) !ŸÒ öÇþöìe

(C) îÄy‚!„þ‚ öÇþöìe

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþöì“þ ˜ëû

25. The full form of NITI in NITI Aayog is —

(A) National Institute for Technology and Information

(A) National Institution for Transforming India

(C) National Institute for Transforming Information

(D) National Informatics and Technology Institute

25Ð NITI Aayogéôé~îû ›öì•Ä NITIéôé~îû þ™%öìîûy ˜y› £œééôôôé

(A) National Institute for Technology and Information

(A) National Institution for Transforming India

(C) National Institute for Transforming Information

(D) National Informatics and Technology Institute

—————
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P - I (1+1+1) G / 20 (N) SUP

2020

ECONOMICS (General)
Paper Code : I-B

[New Syllabus]

(Supplementary)
Full Marks : 100 Time : Three Hours

The figures in the margin Indicate full marks.

Section - I

1. six questions taking any two from each of the groups (Answer within
250 words) 5×6=30

Group - A

(a) Why does demand curve slope downward from left to right?

(b) Explain graphically the relationship between Average Cost (AC) and
Marginal Cost (MC).

(c) What are the determinants of price elasticity of demand?

(d) Discuss the features of perfect competition market.

Group - B

(a) What is the value of money? How can it be measured?

(b) Distinguish between nominal GNP and real GNP.

(c) What are the factors that determine propensity to consume?

(d) Discuss the two main functions of a commercial bank.
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Group - C

(a) What are the objectives of land reforms in India?

(b) Discuss different type of unemployment found in India.

(c) Explain the reasons of low productivity in Indian agriculture.

(d) Discuss briefly the impact of Globalization in Indian economy.

Section - II

Answer any eight question (not more than 100 words) : 5×8=40

2. Explain the law of diminishing marginal utility with the help of suitable diagram.

Or,

How does a consumer reach its equilibrium with the help of budget line and
indifference map?

3. Explain critically the Fisher’s version of quantity Theory of Money.

Or,

Explain diagrammatically the Classical Theory of Employment.

4. Discuss the merits and demerits of “Operation Barga” Act in West Bengal.

Or,

Write a short note on sectoral change in Indian national income during the plan
period.

Section - III

Answer any two question (Answer within 1000 words) : 20×2=40

5. (a) Show that the Price Effect is the combination of Substitution and Income
Effects.

(b) How do the income and substitution effects behave if the price of a Giffen
good changes? 10+10
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6. Explain critically the Keynesian Theory of Income and Employment. 20

7. (a) Discuss the agriculture credit in India.

(b) Discuss the role of NABARD in providing rural credit in India. 10+10

8. (a) Explain the value added method for measuring national income of a country.

(b) What are the difficulties in measuring national income of a country?
10+10

îDy %̃îy”

Section - I

1Ð ²Ì!“þ!Ýþ !î¦þy† öíöì„þ ”%!Ýþ „þöìîû !˜öìëû ö›yÝþ Šéëû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×6=30

!î¦þy† éôé „þ

S„þV ‰þy!£”y öîû…yîû ‘þyœ îy›!”„þ !”öìëû vþy˜!”öì„þ !˜Á¬›%…# £ëû ö„þ˜Ú

S…V †vþü îÄëû SACV ~î‚ ²Ìy!hsþ„þ îÄëû SMCV éôé~îû ›öì•Ä ¢Á™„Åþ !‰þe¢£ îÄy…Äy „þîûÐ

S†V ”yöì›îû !ßþi!“þßþiyþ™„þ“þyîû !˜•Åyîû„þ “þ_=́!œ „þ# „þ#Ú

S‡V þ™)’Å ²Ì!“þöìëy!†“þy îy‹yöìîûîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þîûÐ

!î¦þy† éôé …

S„þV xöìíÅîû ›)œÄ îœöì“þ !„þ öîyöìGþyÚ ~!Ýþ „þ#¦þyöìî þ™!îû›yþ™ „þîûy ëyëûÚ

S…V xy!íÅ„þ GNP ~î‚ ²Ì„,þ“þ GNPéôé~îû ›öì•Ä þ™yíÅ„þÄ !„þÚ

S†V ö¦þy† ²Ìî’“þyîû !˜•Åyîû„þ “þ_=́!œ „þ# „þ#Ú

S‡V þ~„þ!Ýþ îy!’!‹Ä„þ îÄy‚öì„þîû ²Ì•y˜ ”%!Ýþ „þyëÅ=!œ xyöìœy‰þ˜y „þîûÐ
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!î¦þy† éôé †

S„þV ¦þyîûöì“þ ¦)þ!› ¢‚ßþñyöìîûîû vþzöìjŸÄ=!œ „þ# „þ#Ú

S…V ¦þyîûöì“þ þ™yçëûy !î!¦þ§¬ •îûöì̃ îû öî„þyîûc !˜öìëû xyöìœy‰þ˜y „þöìîûyÐ

S†V ¦þyîû“þ#ëû „,þ!¡ìöì“þ !˜Á¬ vþzêþ™y”˜Ÿ#œ“þyîû „þyîû’ îÄy…Äy „þîûÐ

S‡V þ¦þyîû“þ#ëû xíÅ̃ #!“þöì“þ !îÙ»yëûöì̃ îû ²Ì¦þyî ¢Á™öì„Åþ ¢‚!Çþ® xyöìœy‰þ˜y „þîûÐ

Section - II

˜#öì‰þîû ²ÌÙÀ=!œîû vþz_îû ”yç ­ 10×3=30

2Ð öîû…y!‰þöìeîû ¢y£yöìëÄ e«›£Éy¢›y˜ ²Ìy!hsþ„þ vþzþ™öìëy!†“þy !î!• îÄy…Äy „þöìîûyÐ

xíîy

ö„þy˜ç ö¦þy_«y „þ#¦þyöìî îyöì‹Ýþ œy£z̃  ~î‚ !˜îûþ™öìÇþîû ›y˜!‰þöìeîû ¢y£yöìëÄ “þyîû ¦þyîû¢y›Ä!Ýþ
öþ™ï¤ŠéyëûÚ

3Ð xöìíÅîû þ™!îû›y’ “þ_ ́ ¢Á™öì„Åþ !šþŸyöìîûîû ¦þy¡ìÄ!Ýþ xyöìœy‰þ˜y „þöìîûyÐ

xíîy

öîû…y!‰þöìeîû ¢y£yöìëÄ „Ïþy!¢„þyœ !˜öìëûy† “þ_!́Ýþ îÄy…Äy „þîûÐ

4Ð þ™!Øþ›îöìD òòxþ™yöìîûŸ˜ î†Åyóó xy£zöì̃ îû ¢%!î•y ç x¢%!î•y=!œ xyöìœy‰þ˜y „þîûÐ

xíîy

þ™!îû„þÒ˜y„þyöìœ ¦þyîû“þ#ëû ‹y“þ#ëû xyöìëûîû öÇþe†“þ î^ùÝþöì̃ îû þ™!îûî“Åþ˜ ¢Á™öì„Åþ ~„þ!Ýþ Ýþ#„þy
öœöì…yÐ
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Section - III

öëöì„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 20×2=40

5Ð þS„þV ö”…yç öë ”yöì›îû ²Ì¦þyî £œ– þ™!îûî“Åþ ²Ì¦þyî ~î‚ xyëû ²Ì¦þyîéôé~îû öëy†šþœÐ

S…V !†öìšþ˜ oîÄéôé~îû ”y› þ™!îûî“Åþ˜ £öìœ xyëû ~î‚ þ™!îûî“Åþ ²Ì¦þyî=!œ „þ#¦þyöìî xy‰þîû’
„þîûöìîÚ 10+10

6Ð ¢›yöìœy‰þ˜y ¢£ ö„þ£z̃ ¢#ëû xyëû ç !˜öìëûy† “þ_!́Ýþ îÄy…Äy „þîûÐ 10

7Ð S„þV ¦þyîûöì“þ „,þ!¡ì }öì’îû ¢›¢Äy=!œ xyöìœy‰þ˜y „þîûÐ

S…V ¦þyîûöì“þ @ùÌy›#’ }’ ²Ì”yöì̃ îû öÇþöìe ˜yyîyvÅþ SNABARDVéôé~îû ¦)þ!›„þy xyöìœy‰þ˜y „þîûÐ
10+10

8Ð S„þV ~„þ!Ýþ ö”öìŸîû ‹y“þ#ëû xyëû þ™!îû›yöìþ™îû ‹˜Ä ›)œÄ ¢‚öìëy‹˜ þ™kþ!“þ îÄy…Äy „þîûÐ

S…V ~„þ!Ýþ ö”öìŸîû ‹y“þ#ëû xyëû þ™!îû›yþ™ „þîûöì“þ x¢%!î•y=!œ „þ# „þ#Ú 10+10


